13 Bob asked each of 40 friends how many minutes they took to get to work.
——m—m————
The table shows some information about his results,
- Time !ak.en (m minutes) m%&"h‘t Frequency *
| 0<m< 10 $ oy 2 1S
BRI TV e
ill <m = 30 Zﬁ X | I | ':' 298
0<m 40 3%‘ x - 9 | -: s
40 < m < 50 (e | x 9 _+ -'—l (.&OS ackd\

Work out an estimate for the mean time taken. \ \%O
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computer last week

7 The table shows information about the number of hours that 120 children used a

O Tk Wdpones

Number of hours I Frequency

_()\h

€2 10
2<hsd » 15
A<h<o $ x 30
6< "8_ ? i ." ‘
B<hg10 G x 28
0<h< 12 u! X 3

Give your answer 1o 2 decimal place
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Work out an estimate for the mean number of hours that the children us;?ﬁa computer
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K. Bl recosded the tumes, in mumutes, laken o complete bus last 40 homeworks
L, S, W

I has table shows inlormatscn abowt the imes

Time (¢ munutes) W\\b‘t Freguengy
Wxi<2S 205 « & %o
212 2785 « ) LS
W< 3S 1277-S
Wgi<d0 295 < 7 Zﬁ’LS
Wer<48 L1-5 = 18 N 63’73’

(a} Fmd the class interval in which the median hies \Z1O %S é L < l-\—O N

fd hee Be 20" Foguucny 1> formm ==

(n

-

(b} Calculste an estumnaie of the mean time # fook Bill 1o complete cach homework

1250
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20. The table gives some infomation about the tme taken by a group of 100 sudemts to
—“#

comphete an 10 test

-

L

100 < 15 llu iog

b?x (&

(a) Wivie down the modal class micrval

loe (5 hefost (rquacesy .

l l-u;u -u-'cu;m l*nqluc) ‘

,,m,.“ :rf 0 6S 12 _ hE:g-.—)( \'L > 8 7%0

Pl =S ) TS B0

R "‘3? B el 2 TSR
90 < 14 160 24 °\§ ?,(s,

1 %0
2 ves

R660

A<t € oo

ih) Cakoulste an estimaie for the mean time taken by the stusdents
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12. Sethina seconded the tmes, m mamutes, taken 10 repair 80 cas fyres
Intormation about these tunes 15 shown (n the table

Mtlu&uﬁu! ? I'nquﬁn ’. ,
BTG T A T S

[ _s<icn 4 »  |aus | 7i8

| et 20 S x%p 1500
E5 LTV XE i SONE U TR JR R
| M<ig0 ‘21'7 . Tl R 1—2,\6. L

Caloulsie an estimate for the mean time waken o repait cach car Tyre
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14. The table gives mformation about the number of CDs sold in a shop during cach of the
last 30 weceks.

Numbﬂ' of CDs (n) Frequency
0<n<dd § . inien Lo

0<n<g 0 & 5 (?o £ 3@)

80 <nm< 120 Ido 12 oo x L \"Loo

120 <n £ 160 o 7 \‘{O g C\%O

160 < n < 200 3 %0 K%, o e |
Calculate an estimate for the mean number of CDs sold each week. SOED .
Give your answer correct to | decimal place.
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11. Bianca asked 32 women about the number of children they cach had
TN —

Ihe table shows information about her results

Number of children

()

4

more than 4

(a4} Find the mode.

(b) Calculate the mean
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10. Caleb measured the heights of 30 plants.

e

The table gives some information about the heights, & cm, of the plants,

abd

Work out an estimate for the mean height of a plant,

Height (& em) of plants Frequ;'-:;cy

gsaRle. - ho 4 §x1 o

10 <h <20 [ B IS xR 20

_ 20<h < 30 S 9 28 ¥ A 223‘

30 < h < 40 S 7 BN ] Uts

40 < h < 50 L‘k 4 kS xG . 4w
80
e




17. Mapid carrved out a sarvey of the sumber of school dinners 32 studenis bad in one week

The 1able shows this imformation.
Number of school dinners Frequency
0 ¥ 0 ®)
i * " G e
2 X 12 2'[_4,
L § 8 \ R
4 ¥ | b
§ ¢ 2 I \O e\
Caboulate the mean.
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I8. The table shows some information about the heights (5 cm) of 100 students.

Height (& cm) Frequency §
120<h<130 S 8 NE 23 looo
130 < h < 140 ES 16 135 = 16 2160
o< h<iso lhs 25 s v 28 RIYAY
150 < A< 160 | 30 158 "% B0 L{-bSO e e
160 < h< 170 \Ig 21 WS- 2 (- aees. | ]
i + adet”, |
(a) Find the class interval in which the median lies. \Ll'O\OO ‘
fid Where e D" Student  lies E
i
...... Wened RE | ol
v |
(b) Work out an estimate for the mean height of the students. l‘i—c( s f
100 . lcto\ Ce\o




10.  The temperatare (7 °C) at noon at a scaside resort was recorded hu a perod of 60 d.a;\
I'he table shows some of this information

lemperulurt'(l °C) | Number of days
| 10<Tsi4 P » 2 s
| M<TsI8 jb « 8 113
1I8<T<22 9|5 « W | 230
| 2<T<26 qf, . 23 | S
| 26<Ts30 g x 9 | 282
(-
| I0<T<34 2 x 4 L
| | \%6@
Calculate an estimate for the mean temperature at noon during these 60 days.
Giive your answer correct to 3 significant figures. R
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